
AA

BB

CC

DD

EE

FF

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

$Id: exploded.dxf 5604 2017-08-17 19:13:53Z mskala $

MSK 008 VC Octave Switch assembly diagram

1/1

8× knurled nuts
for jacks

4× M3×6 machine
screws with nylon
washers (for mounting
module to rails)

2× M3×6 machine
screws without washers
(for mounting boards
to panel)

2× M3×10
standoffs

2× M3×11
standoffs

2× M3
hex nuts

PANEL

BOARD 1

BOARD 2

2× 1/4" hardware
for switches

note keyway on switches
FACING DOWNWARD


